
Manticore



Welcome to Bells of Steel, you’ve made an excellent choice.

First off I want to say thank you for supporting my small business.

I spent over three years on the Manticore line and many long nights went into crafting an

unparalleled lifting experience for you.

I hope you love using it as much as I did designing it.

I’ve included a birds eye view on how to build a variety of Manticore racks, but I highly

encourage you to go to our YouTube channel and watch our assembly guide.

If at any time you need a hand, contact our experts and we will help walk you through. 





MANTICORE 
ASSEMBLY GUIDE 

COLLEGIATE 



1

(1)

 

①

① ② ③M24×110 bolt,nut,washer

×4

M24×120 bolt,nut,washer

×24

M14×75 anchor bolt

×10

①



(2)

2

①

①

①

①



(3)

3

②

②

②



(4)

4

①

①

①

①



(5)

5

④

④

④

④

④



MANTICORE 
ASSEMBLY GUIDE 

4 POST 



1

(1)

① ② ③M24×120 bolt,nut,washer

×24
 

M24×110 bolt,nut,washer

×4

①

×8

∅12×75-∅14 anchor bolt

①



(2)

2

①

①



(3)

3

②

②

②



(4)

4

①

①



(5)

5

①

①



③

③

③

③

(6)

6



6  Pos t
 

MANTICORE 
ASSEMBLY GUIDE 

6 POST 



1

(1)

① ② ③M24×120 bolt,nut,washer

×4
 

M24×110 bolt,nut,washer

×28 ×12

①

①

①

①

③

∅12×75-∅14 anchor bolt④M24×130 bolt,nut,washer

×8

③



(2)

2

①

①

①

① ① ①



(3)

3

②

②

②



(4)

4

④

④

④

④

④

④



Fo ld ing Ha lf  Rack  

MANTICORE 
ASSEMBLY GUIDE 

FOLDING HALF 
RACK



(1)

1

① ② ④③M24×140 bolt,nut,washer

×4 ×6

M24×120 bolt,nut,washer

×8

Φ25 magnet pin∅10×75-∅12 anchor bolt

×8

①

①

②

②



(2)

2

④

④

④

④

④

④



(3)

3

③

*Install bracket so cross
 member retains the top
 clearance to prevent
 friction with the floor.

③

③

③Concrete anchors are 

included for direct 

wall-mounting. If you want to 

mount this rack using a 

wooden stringer, make sure 

to get lag bolts that are the 

correct size for safe 

installation on the chosen 

stringer.

Install bracket so cross 

member retains the top 

clearance to prevent friction 

with the floor.



Fo ld ing 4  Pos t  

MANTICORE 
ASSEMBLY GUIDE 

FOLDING 4 POST









Concrete anchors are 

included for direct 

wall-mounting. If you want 

to mount this rack using a 

wooden stringer, make sure 

to get lag bolts that are the 

correct size for safe 

installation on the chosen 

stringer.

Install bracket so cross 

member retains the top 

clearance to prevent fric-

tion with the floor.



Squa t  St and w i t h  5 4 "  F la t  Foo t

MANTICORE 
ASSEMBLY GUIDE 

SQUAT STAND 
WITH 54” FLAT 

FOOT 



1

(1)

① ②M24×120 bolt,nut,washer

×16

∅12×75-∅14 anchor bolt

×4

①

①



(2)

2

①

①

①



(3)

3

②

②

②

②



Half Rack with 54"Flat Foot

MANTICORE 
ASSEMBLY GUIDE 

HALF RACK WITH 
54” FLAT FOOT 



(1)

1

① ②M24×120 bolt,nut,washer

×32

∅12×75-∅14 anchor bolt

×4

①

①



(2)

2

①

①

①

①



(3)

3

24"

17"

Dep t h  -Op t ions

Dep t h-Op t ions

24” DEPTH OPTIONS

17” DEPTH OPTIONS



(4)

4

①

①

①

①



(5)

5

②

②

②

②



Po w er  Rack  w i t h  5 4 "  F la t  Foo t

MANTICORE 
ASSEMBLY GUIDE 

POWER RACK WITH 
54” FLAT FOOT 



(1)

1

① ②M24×120 bolt,nut,washer

×32

∅12×75-∅14 anchor bolt

×4

①

①



(2)

2

①

①



(3)

3

 30"

24"

17"

Dep t h-Op t ions

Dep t h-Op t ions  

Dep t h-Op t ions17” DEPTH OPTIONS

24” DEPTH OPTIONS

30” DEPTH OPTIONS



(4)

4

①

①

①

①



(5)

5

②

②

②

②



Squa t  St and w i t h  6 3 "F la t  Foo t

MANTICORE 
ASSEMBLY GUIDE 

SQUAT STAND WITH 
63” FLAT FOOT



1

(1)

① ②M24×120 bolt,nut,washer

×16

①

①

∅12×75-∅14 anchor bolt

×4



(2)

2

①

①

①



(3)

3

②

②

②

②



 Ha lf  Rack  w i t h  6 3 "F la t  Foo t

MANTICORE 
ASSEMBLY GUIDE 

HALF RACK WITH 
63” FLAT FOOT



(1)

1

① ②M24×120 bolt,nut,washer

×32

∅12×75-∅14 anchor bolt

×4

①

①



(2)

2

①

①

①

①



(3)

3

30"

24"

Dep t h-  op t ions

Dep t h-Op t ions
24” DEPTH OPTIONS

30” DEPTH OPTIONS



(4)

4

①

①

①

①



(5)

5

②

②

②

②



Po w er  Rack  w i t h  6 3 "F la t  Foo t

MANTICORE 
ASSEMBLY GUIDE 

POWER RACK 
WITH 63” FLAT 

FOOT



(1)

1

① ②M24×120 bolt,nut,washer

×32

∅12×75-∅14 anchor bolt

×4

①

①



(2)

2

①

①

43" Dep t h  Op t ions43” DEPTH 
OPTONS



(3)

3

3 0 "  D2 4 ' Dep t h-  Op t ions  ep t h-  op t ions
24” DEPTH OPTIONS 30” DEPTH OPTIONS



(5)

5

①

①

①

①



(6)

6

②

②

②

②


